



St. Louis County, Minnesota

Date of Report: 12/14/2025 11:42:04 AM

General Details

 Parcel ID:
 141-0020-04710

 Document:
 Torrens - 1096077.0

Document Date: 10/10/2025

Legal Description Details

Plat Name: HIBBING

Section Township Range Lot Block

33 57 20 -

Description: SE 1/4 OF NE 1/4 EX W 20 AC

Taxpayer Details

Taxpayer NameSCHMIDT WESTON Mand Address:3557 HAVERKAMP RDHIBBING MN 55746

Owner Details

Owner Name SCHMIDT WESTON M

Payable 2025 Tax Summary

2025 - Net Tax \$7,696.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$7,696.00

Current Tax Due (as of 12/13/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,848.00	2025 - 2nd Half Tax	\$3,848.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$3,848.00	2025 - 2nd Half Tax Paid	\$3,848.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 3557 HAVERKAMP RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: ABRAHAMSON, JAMES E & DEBORAH R

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$38,800	\$413,000	\$451,800	\$0	\$0	-		
111	0 - Non Homestead	\$26,600	\$0	\$26,600	\$0	\$0	-		
	Total:	\$65,400	\$413,000	\$478,400	\$0	\$0	4725		





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:42:04 AM

Land Details

Deeded Acres: 41.60
Waterfront: Water Front Feet: 0.00

Water Code & Desc: P - PUBLIC

Gas Code & Desc:

 Sewer Code & Desc:
 P - PUBLIC

 Lot Width:
 1344.00

 Lot Depth:
 1349.00

Lot De	epth:	1349.00								
The di	imensions shown are no	t guaranteed to be s	urvey quality. A	dditional lot i	nformation can be	e found at				
https://apps.stlouiscountymn.gov/webPlatslframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.										
_	Improvement 1 Details (HOUSE)									
l Im	nprovement Type	Year Built			Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	HOUSE	1960	2,10		2,104	AVG Quality / 1237 Ft ² RAM - RAMBL/R				
	Segment	Story	Width	Length	Area	Foundat				
	BAS	1	14	24	336	FLOATING				
L	BAS	1	34	52	1,768	BASEME				
	Bath Count	Bedroom Co		Room Co		Fireplace Count	HVAC			
	2.75 BATHS	4 BEDROOM	//S	7 ROOM	S	1	C&AIR_COND, GAS			
			Improven	nent 2 Det	ails (ATT. GA	R)				
lm	nprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	1978	720)	720	-	ATTACHED			
	Segment	Story	Width	Length	Area	Foundat	ion			
L	BAS	1	24	30	720	FOUNDAT	TION			
	Improvement 3 Details (SHOP)									
lm	provement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	1997	1,35	50	1,350	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundat	ion			
	BAS	1	30	45	1,350	FLOATING	SLAB			
			Improveme	nt 4 Detail	s (POLE FRA	ME)				
lm	provement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GARAGE	1940	900)	900	-	DETACHED			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	1	18	50	900	FLOATING	SLAB			
			Improver	nent 5 Det	tails (GAZEB	O)				
lm	nprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
	GAZEBO	1996	173	3	173	=	-			
	Segment	Story	Width	Length	Area	Foundation				
	BAS	1	0	0	173	FLOATING SLAB				
	Improvement 6 Details (Paver)									
lm	provement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
		0	1,44	10	1,440	-	B - BRICK			
						Area Foundation				
	Segment	Story	Width	Length	Area	Foundat	ion			





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:42:04 AM

		-	ment 7 Details	•					
Improvement Ty				ss Area Ft ²	Basement Finish	Style	Code & Desc.		
STORAGE BUILDING 0			200 200		-		-		
Segment Story		•	Length	Area	Founda				
BAS	5 1	10	20	200	POST ON (ROUND			
		•	ement 8 Deta	ails (Shed)					
Improvement Ty						asement Finish Style Code & Desc.			
STORAGE BUILDI		12		120	<u> </u>		-		
Segmo		•	Length Area			Foundation			
BAS	5 1	10	12	120	0 POST ON GROUND				
		Sales Reported	to the St. Lo	uis County Au	ditor				
S	ale Date		Purchase Pric	e	CR	V Number			
1	0/2025		\$565,000			271486			
(01/2002		\$181,000			144411			
(09/1994		\$89,500			101695			
		A:	ssessment Hi	istory					
	Class	1 1	DL I.	T -4-1	Def	Def	No. Too		
Year	Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	201	\$41,500	\$434,300	\$475,80	0 \$0	\$0	-		
2024 Payable 2025	111	\$29,600	\$0	\$29,600	\$0	\$0	-		
20211 (4) (2010 2020	Tota	\$71,100	\$434,300	\$505,40	0 \$0	\$0	5,017.00		
	201	\$43,400	\$402,400	\$445,80	0 \$0	\$0	-		
2023 Payable 2024	111	\$31,700	\$0	\$31,700	\$0	\$0	-		
•	Tota	\$75,100	\$402,400	\$477,50	0 \$0	\$0	4,775.00		
	201	\$36,700	\$286,600	\$323,30	0 \$0	\$0	-		
2022 Payable 2023	111	\$24,300	\$0	\$24,300	\$0	\$0	-		
,	Tota	\$61,000	\$286,600	\$347,60	0 \$0	\$0	3,395.00		
2021 Payable 2022	201	\$33,900	\$243,300	\$277,20	0 \$0	\$0	-		
	111	\$21,100	\$0	\$21,100	\$0	\$0	-		
	Tota	\$55,000	\$243,300	\$298,30	0 \$0	\$0	2,860.00		
		1	Γax Detail His	tory					
			Total Tax &						
Tax Year	Tax	Special Assessments	Special Assessment	s Taxable Lan	Taxable Bui	lding Total Taxable			
2024	\$7,032.00	\$0.00	\$7,032.00	\$75,100		0	\$477,500		
2023	\$5,764.00	\$0.00	\$5,764.00	\$60,076	\$279,38	1	\$339,457		
2022	\$4,990.00	\$0.00	\$4,990.00	\$53,497			\$286,008		





St. Louis County, Minnesota

Date of Report: 12/14/2025 11:42:04 AM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.